Heat Practice Exercises
1. Hypothermia can occur if the body temperature drops to 35(C, although people have been known to survive much lower temperatures.  On January 19, 1985, 2 year old Michael Trode was found in the snow near his Milwaukee home with a body temperature of 16(C.  If Michael’s mass was 10 kg, how much heat did his body lose, assuming his normal body temperature was 37(C? (chuman body = 3470 J/kg(C)

2. An igloo is made of 224 blocks of ice at 0(C, each with a mass of 12 kg.  How much heat must be gained by the ice to melt the entire igloo?

3. Peter is heating water on the stove to boil eggs for a picnic.  How much heat is required to raise the temperature of his 10 kg pot of water from 20(C to 100(C?
4. Nova, whose mass is 50 kg, stays out skiing for too long and her body temperature drops by 2(C.  What is the amount of heat lost form Nova’s body? (chuman body = 3470 J/kg(C)

5. Finishing his ginger ale, Kevin stands at a party holding his insulated foam cup that has nothing in it but 0.1 kg of ice at 0(C.  How much heat must be gained by the ice in order for all of it to melt?

6. In #5, how much more heat must be gained to raise the temperature of the melted ice to room temperature of 23(C?

7. Under the spreading chestnut tree the village blacksmith dunks a red-hot horseshoe into a large bucket of 22(C water.  How much heat was lost by the horseshoe in vaporizing 0.1 kg of water?

8. Using the heating curve below, calculate the total amount of heat absorbed by the 50 g sample of water.
                               [image: image1.emf]Heating Curve (80 g of water)
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